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QUESTION 1

You are designing a reference match that will be run on a daily basis. Where should the reference data frequencies
typically be generated? 

A. In a Server job in the same Job Sequence. 

B. In a shared container in the same job as the match. 

C. In a different job stream and part of the daily process. 

D. In a different job stream and not part of the daily process. 

Correct Answer: B 

 

QUESTION 2

Based on the following complex survivorship rule: 

SIZEOF(b.FirstName) 

A. The length of the first name with the longest name will be the one selected. 

B. The length of the first name with the shortest name will be the one selected. 

C. The length of the first name of the current record will be less than the length of the first name of the best record. 

D. The length of the first name of the best record will always be greater than the length of of the street name of the
current record. 

Correct Answer: A 

 

QUESTION 3

When exporting a rule set to a .dsx file, what check box options should be selected? 

A. All check boxes are selected. 

B. No check boxes are selected. 

C. The Exclude Read Only items check box is selected and the Include Dependent Items check box is cleared. 

D. The Exclude Read Only items check box is cleared and that the Include Dependent Items check box is selected. 

Correct Answer: A 

 

QUESTION 4

Which statement represents the pattern that does NOT end with a number? 
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A. + | + | + | $ 

B. + | + | !A | $ 

C. + | + | nA | $ 

D. +1 + I A I $ 

Correct Answer: C 

 

QUESTION 5

What is the most optimized way to pass data between jobs? 

A. Storing data in XML. 

B. Storing data in text files. 

C. Storing data in parallel datasets. 

D. Storing data in indexed database tables. 

Correct Answer: A 
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